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Chemistry 12
Electrochemistry Lesson #1 Read pages 189-192 and fill in the following
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Copy the illustration of the ELECTROCHEMICAL CELL pg 189, which is a
systemthat_ PECOUCEN EWNRERGY  (elpcbrcel) .
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Equation:
2 Ag*(aq) + Cu (s) -—-> 2 Ag (s) + Cu?*(aq)

The above reaction involves the loss and gain of electrons. The reaction has

been split so that the Ag™* is reacting in the left half of the electrochemical cell,
while the copper is reacting in the right.

Each halfis calleda HA LF - cero and the reaction that occurs in a half-
cellis called aytPLE- Cel. R iTic.) ora HALF- REACTION

IMPT: if the <A+ ®@uni,¢  is removed the reaction STOPS IMEDIATELY!!!
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For every reduction reaction there must be a corresponding oxidation reaction,
therefore it is called a Qef'lw\‘vm X d v reaction or a mu reaction.

In the reaction: :
2 Ag* (aq) + Cu (s) -—--> 2 Ag (s) + Cu2* (aq)
li 5
Ag" is said to be the * o (agm that causes Cu to become oxidized
Ag” = oxidizing agent

ol

Cu is said to be the {g AC2IAX ¥ that causes Ag" to become reduced
Cu= reducmg agent

IN OTHER WORDS T
The oxidizing agent is @m/hbi >
The reducing agent is LA D WA

How to tell which species is being oxidized or reduced?
OXIDIZATION = loss of electrons OR becoming more XSV W/E
List examples: 2., _y z,>" + 24
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Which situation gave rise to the use of the term “Oxidation”?
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REDUCTION = gain of electrons OR becoming more WNT GAMVE -
List examples: w%- + 1 - i 6 o
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Example 1: In the equation Zn2*+ Mg —> Zn + Mg2*
write out the two half-reactions:

MC‘ ——55"(62*-‘-2‘-6 ) ’ZV\?‘+ A Qé = Zn

What is happening to Mg? losmg electrons = _\5 ‘wem\, um
What is happening to Zn? gaining electrons = A w—-’am Y ek e_rx(

(24
Mg is the reducing agent, while Zn is the oxidizing agent.

HOMEWORK: exercises 1 + 2 pg 192 PLO: $1



